sprawdzenie

NI*NI*L | N1I*N2*L [ N2*N2*L| N1*NO*L | N2*NO*L NI*N*L | N2*N*L
Pret |L/EA| N1 | N2 | NO n A A n A | NI*XL [N2*X2 [ N [kN] | Al
D1 6 | 0,75 0 0 3,375 0 0 0 0 0,81 | 0,00 0,81 3,645 | 0,000
D2 6 0 0,75 0 0 0 3,375 0 0 0,00 | -0,81 | -0,81 0,000 | -3,645
Gl 6 | 0,75 0 -12 | 3,375 0 0 -54 0 0,81 | 0,00 | -11,19 | -50,355| 0,000
G2 6 0 -0,75 | -12 0 0 3,375 0 54 0,00 | 0,81 | -11,19 | 0,000 | 50,355
S1 4 1 0 0 4 0 0 0 0 1,08 | 0,00 1,08 4,320 | 0,000
S2 4 1 -1 0 4 -4 4 0 0 1,08 1,08 2,16 8,640 | -8,640
S3 4 0 -1 0 0 0 4 0 0 0,00 1,08 1,08 0,000 | -4,320
K1 10 0 0 -20 0 0 0 0 0 0,00 | 0,00 | -20,00 | 0,000 | 0,000
K2 10 |-1,25 0 0 15,625 0 0 0 0 -1,35 [ 0,00 | -1,35 | 16,875 | 0,000
K3 10 |-1,25 0 0 15,625 0 0 0 0 -1,35 | 0,00 | -1,35 | 16,875 | 0,000
K4 | 10 0 1,25 0 0 0 15,625 0 0 0,00 | -1,35 | -1,35 0,000 |-16,875
K5 10 0 1,25 0 0 0 15,625 0 0 0,00 | -1,35 | -1,35 0,000 |-16,875
46 -4 46 -54 54 0,000 | 0,000
o011 012 022 010 020
o011 | 012 46 -4 54| -049
021 | 022 -4 46 54| -0y
macierz odwrotna
0,0219| 0,0019 1,08| «x1
0,0019| 0,0219 -1,08| x2
Wyznaczenie przemieszczenia z twierdzenia redukcyjnego
pret| ea | n | W |V pret | UEA | N | mu [VRUTL
EA EA
D1 6 0,81 0 0 D1 6 0,81 0 0
D2 6 -0,81 0 0 D2 6 -0,81 -1 4,86
G1l 6 |[-11,19| O 0 G1 6 -11,19 0 0
G2 6 |[-11,19| O 0 G2 6 -11,19 0 0
S1 4 1,08 0 0 S1 4 1,08 0 0
S2 4 2,16 0 0 S2 4 2,16 0 0
S3 4 1,08 1 4,32 S3 4 1,08 0 0
K1 | 10 |-20,00( O 0 K1 10 -20,00 0 0
K2 [ 10 | -1,35 0 0 K2 10 -1,35 0 0
K3 [ 10 | -1,35 0 0 K3 10 -1,35 0 0
K4 | 10 | -1,35 | 0,00 0 K4 10 -1,35 | 0,00 0
K5 | 10 | -1,35 [-1,25( 16,875 K5 10 -1,35 0 0
21,195 —VA 4,86 —uA
EA EA



